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f B |54 5 s FiEE EREG R
k3 pi =] =N Fivd K 4 g PEHE A i BB Paye g iyl B
© 100m 1 KB B=% BEXR 3 [6.19] -0.9 127 36 1] -1.3 127 24 1| -0.7 127 09 1
9 100m 2 hAk BEZE 3 |6.19| -0.2 12”7 24 1| -08 127 22 1| -0.7 127 19 2
£ 100m 3 g &7 KER 3 |6.19| +0.2 127 44 1| -08 12”7 33 3| -07 127 33 5
S 100m 4 TH EFEE AER 3 [6.19] -1.2 127 40 1| -13 127 41 2| -07 127 31 4
= 100m 5 & AhhA KER 2 |6.19| -0.2 12”7 48 3| -08 12 7 38 4| -07 12”7 38 6
S 100m 6 BiE A& 2T 3 |6.19| -0.9 12”7 49 2| -08 12”7 43 5 "
= 200m 1 KB (BFE BEX 3 |6.20| +3.2 257 17 1 +0.4 247 77 A
£y 200m 2 hAR = BEX 3 1620 | +2.3 25”7 05 2 +0.4 25” 08 3
= 200m 3 Hk ¥EA 2 2 |6.20 | +2.9 247 97 1 +0.4 247 89 2
= 200m 4 1 AER 3 [6.20 | +2.3 25”7 31 4 +0.4 257 21 4
= 200m 5 IFE UO&Y BHE 3 |6.20 | +3.2 257 28 2 +0.4 25”7 33 7
S 200m 6 BiE A& 2T 3 |6.20 | +2.3 25" 16 3 +0.4 25”7 32 6
= 400m 1 AR BB BEX 3 |6.18 56 7 33 1 547 54 A
= 400m 2 W Z& AER 2 |6.18 56 7 61 1 56 7 49 2
£ 400m 3 WE /i AER 2 |6.18 58”7 31 3 58”7 26 6
= 400m 4 h¥% £& FEFEHLE 3 |6.18 587 13 2 58”7 71 8
= 400m 5 s g TEBRfER 3 |6.18 58" 86 4 ”
= 400m 6 g Ly HALER 2 |6.18 59" 97 6 "
S 800m 1 R #F EF 3 |6.20 27 147 75 1 2’ 08" 12 1
= 800m 2 AR BGE &F 2 16.20 2’7 13”7 69 2 2’ 13”7 95 6
S 800m 3 B EXK EF 3 16.20 27 15”7 77 3 "
S 800m 4 KB #5LL T ILEF 3 6.20 27 137 39 1 27 11”7 59 4
S 800m 5 Bl BkTE BEX 2 16.20 27 19”7 78 6 "
= 800m 6 i B AR 2 [6.20 2’ 18” 30 5 ”
& 1500m 1 EE K AE— 3 [e1s19 4’ 33" 33 5 4’ 407 68 12
. 1500m 2 AT #I 2% 3 61819 4’ 427" 57 2 47 247 02 1
% 1500m 3 AR R RE— 3 [e1s-19 4’ 43”7 13 5 4’ 28”7 04 6
% 1500m 4 H BEK aF 3 |e1s-19 47 427 36 1 4’ 277 39 5
% 1500m 5 Ek BEHEE  AER 3 |6.18 47 45”7 50 7 "
% 1500m 6 I B a2 3 |e1s:19 47 327 01 2 4’ 27”7 00 4
. 3000m 1 ER X AE— 3 |6.21 9’ 42”7 30 6
T 3000m 2 SRk BEE ARE— 3 |6.21 9’ 37”7 95 4
% 3000m 3 AT #3B B 3 |6.21 9’ 36" 46 3
& 3000m 4 hr  BUTE 2F 2 [6.21 9’ 38" 95 5
% 3000m 5 EkE BHE  KER 3 |6.21 9’ 48" 19 8
%  3000m 6 Hp #FE BEFR 2 |6.21 9’ 50” 51 9
% 100mH 1 HO HiK BEZE 3 |6.21| +0.9 147 11 1| -10 147 18 1| —24 147 29 2
% 100mH 2 mR7axr LR EE 2 |6.21| +0.4 147 82 2| +1.8 147 52 2| -24 14”7 58 5
% 100mH 3 [FEH ®51E K 3 (621 -05 15”7 19 4| -1.0 147 52 4| -24 147 77 7
% 100mH 4 %% Bm = 3 [6.21 | +09 147 87 3| -1.0 147 67 6 "
% 100mH 5 JoI0o H5 FEZEBE 3 1621 -1.5 15”7 41 3| +1.8 147 92 5 ”
% 100mH 6 R BE TEBRER 3 [6.21 ” DNS ” "
& 400mH 1 AR BB BEX 3 |6.19 17 00” 95 1 17 00”7 09 1
& 400mH 2 HE BE TERFER 3 |6.19 ” DNS ”
% 400mH 3 Nk sk HBEHE 3 (6.19 17 05”7 21 2 17 02" 8 4
& 400mH 4 TE I 2 3 [6.19 17 04”7 02 4 17 03”7 8 7
% 400mH 5 A E£PHE  #HEMNE 3 (6.19 17 05" 21 2 17 06”7 06 8
% 400mH 6 B8 EiE FrRAE 3 [6.19 17 08”7 78 7 "
% 5000mW 1 Fih WMAE AER 3 |6.18 24° 467 12 2
T 5000mW 2 hNg BE AER 2 |6.18 25’ 147 15 3
% 5000mW 3 KA FBEE  BEAK 3 |6.18 28° 06" 64 9
T 5000mW 4 Heg T8 AER 3 |6.18 26° 46”7 03 5
& 4x100mR 1 BEFR 6.18 467 53 1| HO E’&E)-2RIL HEIEMEG)- A FEQ)- KA (BE®Q)
& 4x100mR 2 KER 6.18 46”7 81 1| £ H FEQ)- L HFQ)-#& hhA@)-EE HUYSQ2)
& 4x100mR 3 FEPERE 6.18 477 43 2| k3 BHILQ)-RE BRE)-FE E@G)-7o0 $43503)
% 4X100mR 4 TERRTER 6.18 487 23 3| JA BQ)- A0 RBEEQ)-INE ODOHG)-EH BIEQ)
% 4x100mR 5 HBEHE 6.18 487 05 4| BQ)-%#% Q) -/ BEQ) AR mEQ)
% 4X100mR 6 i) 6.18 48 7 44 A BHK BFQ)-ITHE V&EYEQ)-FIE BEQ)-FEH HEN)
& 4x100mR REE BEFR 6.19 467 34 1| BO EEQ)-42RIL BEHQ) A E0) KA <BEQR)
L 4x100mR R RKER 6.19 46”7 84 2| H FEEEG)- L HFEQ)E MNAQ)-RE HYSQ)
& 4x100mR RE FEZERE 6.19 477 31 4| K¥H B2 -RE BEOQ)-FE FEOQ)-7Pz0 450)
% 4x100mR REE HEBEHE 6.19 48 7 27  8|#EA B(3)-thik ERQ)-/NE EHEQ)-RAR BEQ)
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k3 pi =] =N Fivd K 4 g PEHE A i BB Paye R v I
% 4X400mR 1 BEX 6.20 37 527 84 1| A EQR)-AA BHEQ)-EHO EKEG)-2RIL HHEHEQ)
& 4x400mR 2 AER 6.20 37 497 31 1| RE HYSQ)-FH MEQ)-BH #0G)- LA £K02)
& 4x400mR 3 TERRfER 6.20 37 547 06 1| /NE OOHG)-HHE BR(3)-HE1F FEQ)-IRA BO3)
% 4X400mR 4 B 6.20 37 537 02 3| LB MTEQ)-EEE BEER)-FHE EERE)- HH EMEE)
& 4%x400mR 5 FEFERE 6.20 37 537 24 2| K& Z(3)-NE EBL(Q2)- 4§ BAFI(2)- B FF £EQ)
% 4x400mR 6 el 6.20 4’7 027 61 6| A EFQ-HXk EAQREA REFFO) =1 BEQ)
& 4x400mR REE BEFR 6.21 37 487 00 2| A E@Q)- KB BEQ)-BO BKEG)- 4L BETH)
T 4x400mR R KEER 6.21 3 477 40 1| &BE HYEQ)-EF /MEQ)-BF BEG) LA F&(2)
& 4X400mR REE TEBRESR 6.21 37 517 10 4| /INE OOHG)-Hil BR(3)-1E1F Q)& B@3)
X 4x400mR R aF 6.21 3’ 547 96 7| LB WIEQ)-EER BEIEQ)-HH FHEOQ)-FAP EREQ)
& 4x400mR RES FRERERE 6.21 37 507 86 3| K&t Z(3)-NE EBL(Q2)- 4§ BFI(2)- ¥ £EQ)
& EE 1 FE s BEX 3 [6.18 im 76 1
Z  EEBk 2 FH B HE 3 [6.18 1m 73 2
x  EEBk 3 B EE i) 3 |6.18 1m 50 18
Z  ESB 4 FIER K wil%x 3 |6.18 1m 64 4
x  EEBk 5 it {ZH AR 3 |6.18 1m 58 11
& EEk 6 ER )Y By 3 |6.18 1m 55 14
x  EEk 1 O ¥& EE 3 |6.18 3m 60 4
& EEk 2 BB HIE AER 1 [6.18 3m 20 7
Z  Eabk 3 HE A W H 3 |6.18 3m 30 6
& EEk 4 wH EE EBE& 3 |6.18 3m 20 9
& EEsk 1 55 EE )AL 3 |6.20 +0.8 5m 87 1
Z EEB 2 B X E R 2 |6.20 +0.3 5m 80 2
& EEsk 3 AF B FEZEHBE 3 [6.20 +1.1 5m 25 16
& EiEBk 4 LS FEZERE 2 |6.20 +1.9 5m 69 3
& EEB 5 wRHE X&E JIawaL 3 [6.20 +1.7 5m 54 7
% EtEBk 6 A HF oy 3 16.20 +0.9 5m 59 5
X SRk 1 Hp %£F [Ny 2 |6.21 -0.6 11Tm 79 2
& =k 2 BE EIE g 3 |6.21 +1.2 12m 17 1
& =Bk 3 KMy LT BEX 3 [6.21 +1.1 10m 94 9
& =Bk 4 H HIE SHA—& 3 |6.21 +1.3 M1m 15 8
SR kR 1 KE ED iy 3 |6.21 12m 10 4
& Rahik 2 FH =& ISR 3 |6.21 MMm19 8
T Riik 3 TR B =} 3 [6.21 10m 78 10
& Rahik 4 ik EW FriR 7 3 |6.21 10m 49 12
SR kR 5 N WF AER 2 |6.21 10m 54 11
& fahik 6 hNR BE = 2 |6.21 9m 72 20
& MR 1 maf Ef i 3 [6.19 33m 65 7
& AR 2 FH =& ISR 3 [6.19 36m 20

& MR 3 R &% AR 7 2 |6.19 33m 62 8
& AR 4 KE EN i) 3 |6.19 34m 8 5
& MR 5 K #E=x ARA 3 [6.19 33m 03 1
& A% 6 kR EW AR 3 [6.19 31m 97 12
Z N1 1 TR O3 ARE 3 |6.18 48m 27 1
T - 2 FEH EH SEISEE 3 |6.18 47 m 59 2
T 1% 3 AH BE N 3 |6.18 4 m 47 4
- SAVE - 4 = biE [T 3 |6.18 36m 99 10
X DYE 1 T BA EIl—% 3 [6.18 41m 41 3
x YK 2 R BEFE MR 3 |6.18 39m 51 6
x Y 3 BE MEE BEFR 3 |6.18 35m 93 11
T PYE 4 WE WE Fdt 3 |6.18 35m 62 13
x YK 5 2E EX B 3 |6.18 36m 44 10
T DY 6 BEEZ IRE T 3 |6.18 35m 61 14
& tEBR 1 fTER & [ /N1l g 2 |620-21 4607 = 1
T EiEmR 2 B e EFR e 2 |620-21 4486 = 3
& tEBER 3 FRIE LBk =S¥ 1 |620-21 4355 = 4
T EiEmE 4 KEF RIE FEZERE 2 |60 3919 & 10
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